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Name _______________________

Atomic Structure WS







Period ______
  Date ___________


Complete the following table:

	Name of Element
	Nuclear Symbol
	Atomic Number
	Mass Number
	Protons
	Neutrons
	Electrons
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	21
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La


	
	
	
	
	

	Phosphorus-28
	
	
	28
	
	
	18

	
	
	
	
	57
	82
	

	
	
	29
	
	
	36
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Cu


	
	
	
	
	

	Aluminum-25
	
	
	25
	
	
	10


Titanium has five common isotopes: 46Ti (8.0%), 47Ti (7.8%), 48Ti (73.4%), 49Ti (5.5%), 50Ti (5.3%).  What is the average atomic mass of titanium? Show all work including units.

Calculate the average atomic mass of copper if Cu-63 is 69.17% abundant with a mass of 62.93 amu and Cu-65 has a mass of 64.93 amu.
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